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Direct materials used $10,000,000 $7,982,000
Direct manufacturing labor costs $ 1,030,000 $4,100,000
Machine-hours 200,000 34,000
Manufacturing overhead costs $9,900,000 $8,200,000

S p.3-2 5t 313 HAE §JX] 24 (U ;A

(o] L |

T ot ¢ devart ¢ WIP-B  xxx

ranster to next departmen WIP-A XXX
FG XXX

Transfer to FG WIP-B  xxx

o p.3-27 3H4 3%
~3 g A 52,0007 we ~Td AR SHYSE 62,0007H

o p 4-13 F3 514 &KX

A7hE9l0] opd E7bEQlo] E&vpolch, w U7FEQI0] opd Y7}El0] F4uisolct,

° p.8-17 +#6 s &4
TIP$ = ($150,000 + 0.60) + ($15 + $60) = $4,600,000
w TIP$ = ($900,000 + $150,000 + 0.60) + ($15 + $60) = $4,600,000
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(Instruction 1)
NRV(X) = 140 tons x $1,200 = $168,000

NRV(Y) = 200 tons x $900 = $180,000
NRV(Z) = 200 tons x $600 - 20,000 = $100,000
NRV(X+Y+Z) = $448,000

168,000

Joint cost (X) = $280,000 x o

= $105,000



180,000

Joint cost (Y) = $280,000 x 243,000 = $112,500
. ) 62,500
Joint cost (Z) = $280,000 x 148,000 - $62,500

(Instruction 2)
Sales (X) = 140 tons x $1,200 = $168,000

Sales (Y) = 200 tons x $900 = $180,000
Sales (Z) = 200 tons x $600 = $120,000
Sales (X+Y+Z) = 168,000 + 180,000 + 120,000 = $468,000
COGS (X+Y+Z) = 280,000 + 20,000 = $300,000
. B 300,000
Joint cost (X) = $168,000 x 268.000 $107,692
. ) 300,000
Joint cost (Y) = $180,000 x 268.000 $115,385
, . 300,000 )
Joint cost (Z) = $120,000 x 468,000 20,000 = $56,923
(Instruction 3)
. ) 168,000 _
Joint cost (X) = $280,000 x 443.000 $105,000
. ) 180,000 _
Joint cost (Y) = $280,000 x 148.000 $112,500
Joint cost (Z) = $280,000 x 2299 _ g9 500
o1 - ' 448,000 :

(Instruction 4)
Physical Units (X+Y+Z) = 140 + 200 + 200 = 540 tons

140

Joint cost (X) = $280,000 x 20 - $72,593
Joint cost (Y) = $280,000 x % = $103.704
Joint cost (Z) = $280.000 x -2 = $103.704

540



